
Table of integration formulas (p. 506). Con-

stants of integration have been omitted.

1.
∫

xn dx = xn+1

n+1 (n 6= −1)

2.
∫ 1

x dx = ln |x|
3.

∫
ex dx = ex

4.
∫

ax dx = ax

ln a

5.
∫
sinx dx = − cosx

6.
∫
cosx dx = − sinx

7.
∫
sec2 x dx = tanx

8.
∫
csc2 x dx = − cotx

9.
∫
secx tanx dx = secx

10.
∫
cscx cotx dx = − cscx

etc.

(There are 20 integrals in the table, altogether.)



∫ 2t

(t− 3)2
dt(1)

∫
earctan y

1 + y2
dy(2)

∫
x

x4 + x2 + 1
dx(3)

∫
sin3(θ) cos5(θ) dθ(4)

∫
dx

(1− x2)3/2
(5)

∫ 1/2

0

x√
1− x2

dx(6)

∫ 1/
√

2

0

x2√
1− x2

dx(7)

∫
e2t

1 + e4t
dt(8)



∫
e3
√

x dx(9)

∫
t3e−2t dt(10)

∫
x sin−1 x dx(11)

∫ 4

0

x− 1

x2 − 4x− 5
dx(12)

∫
dx

x
√

4x + 1
(13)

from old midterms:∫
sin3 x tan2 x cos2 x dx(14)

∫ 2

1

dx

x2(x + 1)
(15)



∫
dx√

4x2 + 8x− 12
(16)

∫
x3√

9− x2
dx(17)

∫
x tan−1 x dx(18)

∫
x3 + 2

x2 − 1
dx(19)

∫ 1

0

x3

x2 + 1
dx(20)

∫ 1

x2
√

x2 − 1
dx(21)

∫ 4

x2(x + 2)
dx(22)

∫ cosx

4− sin2 x
dx(23)



∫
x3√

4− x2
dx(24)

∫ 1

0
(x2 + 1)e−x dx(25)

∫ 4

1

e1/x

x2
dx(26)

∫ 2x + 3

x2 − 2x + 1
dx(27)

∫ π/4

0
cos6(3x) sec3(3x) dx(28)

∫ 1

1/2

√
1− x2

x
dx(29)

∫ √
8

2

dx

x4
√

x2 − 4
(30)

∫
e3x

e2x−1
dx(31)



∫
x lnx dx(32)

∫
sin2 y cos2 y dy(33)

∫ sin θ√
2− cos2 θ

dθ(34)

∫
cos 3θ dθ(35)

∫ 2

1

x3

x2 + x + 1
2

dx(36)

∫ √
y − 4

y
dy(37)


